Chapter 30

1. How much is the value of a machine that provides an annual income of $800 when the going rate of interest is 16 percent?

2.
How much is the value of a building that provides an annual income of $120,000 when the going rate of interest is 6 percent?

3.
How much is the value of a machine that provides an annual income of $2,400 when the going rate of interest is 8 percent?

4.
What is the present value of $1,000 that will be paid to you in two years if the interests rate were 9 percent?

5.
What is the present value of $10,000 that will be paid to you in five years if the interest rate is 7 percent?

6.
What is the present value of one dollar six years from now if the interest rate is 10 percent?

7.
Find the net productivity of capital if sales = $1 million; labor costs = $300,000; fuel = $30,000; advertising = $10,000; insurance = $20,000; normal profit = $50,000; and capital cost = $500,000.

8.
Find the net productivity of capital if sales = $600,000; labor costs = $150,000; selling costs = $75,000; insurance = $5,000; and capital cost = $250,000.

